(3x3)(3x2) (3x2) · A must be 3x3 matrix 1.a, B (3+2) AB=C $A = \begin{bmatrix} a_{M} & a_{H2} & a_{H3} \\ a_{21} & a_{22} & a_{23} \\ a_{31} & a_{32} & a_{33} \end{bmatrix}$ C (3x2) Ar = y (323)(321) (3.2) x (3×A) Ψ(3×Λ) $AB = \begin{bmatrix} a_{m} & a_{n2} & a_{n3} \\ a_{21} & a_{22} & a_{33} \\ a_{31} & a_{32} & a_{33} \end{bmatrix} \begin{bmatrix} b_{m} & b_{n2} \\ b_{24} & b_{22} \\ b_{34} & b_{32} \end{bmatrix}^{2} \begin{bmatrix} a_{m}b_{m} + a_{n2}b_{24} + a_{n3}b_{34} \\ a_{2n}b_{m} + a_{22}b_{24} + a_{23}b_{34} \\ a_{3n}b_{m} + a_{32}b_{m} + a_{33}b_{34} \end{bmatrix}$ an baz+ anzba+ anzbaz ay bis + an bis + as bis az1 612 + aj2 622 + 033 632) $= C = \begin{bmatrix} c_{M} & C_{AD} \\ C_{2M} & C_{2D} \\ C_{3A} & C_{2D} \end{bmatrix}$ $= \begin{bmatrix} a_{11} k_{1} + a_{12} k_{2} + a_{13} k_{3} \\ a_{24} k_{1} + a_{22} k_{2} + a_{23} k_{3} \\ a_{34} k_{4} + a_{32} k_{2} + a_{33} k_{3} \end{bmatrix} = \tilde{y} = \begin{bmatrix} y_{1} \\ y_{2} \\ y_{3} \end{bmatrix}$ $A \vec{x} = \begin{bmatrix} a_{44} & a_{42} & a_{43} \\ a_{01} & a_{22} & a_{23} \\ a_{31} & a_{32} & a_{33} \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix}$ an bu + an bu + an bu = Cm~ $B' = \begin{bmatrix} B \ \overline{x} \end{bmatrix} = \begin{bmatrix} b_m & b_{12} & x_1 \\ b_{21} & b_{22} & x_2 \\ b_{31} & b_{32} & x_3 \end{bmatrix}$ an ba + an ba + an ba = CAN azn bm + azz bz + azz bz = Cz1 $C' = [C =] = \begin{bmatrix} C_m & C_{n2} & y_1 \\ C_{21} & C_{22} & y_2 \\ C_{31} & C_{32} & y_3 \end{bmatrix}$ an b12 + 9x 622 + 93 632 = C12 an bu + anb + anb 32 = C22 an bra + azz bz + azz bz = Czz ⇒ [AB' = C] (probably not) ⇒ [AB' = C] (probably not) an K1 + ans K2 + ans K3 = y1 an X1 + azz K2 + azz K3 = y2 az1 ×1 + az2 ×2 + azz ×3 = y3 the from the question, we assume that all square matrices are invertible. All matrices A, B' and C' are (3x3), therefore, square, matrices. we can then post-multiply both sides by the inverse of B', (B')-1 amiving AB'(B')^{-1} = C'(B')^{-1}, B'(B')^{-1} = I, therefore $[A = C'(B')^{-1}]$. After finding muerse of B', we just multiply it with C' and the result will be matrix A.

b
B •
$$\begin{bmatrix} 4 & 0 \\ 5 & 5 \\ 1 & -A \end{bmatrix}$$

C • $\begin{bmatrix} 3 & A \\ 1 & -A \end{bmatrix}$
R • $\begin{bmatrix} 4 \\ 1 \\ -A \end{bmatrix}$
R • $\begin{bmatrix} 4 \\ -A \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
C • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & 2 \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & 3 \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} 3 & A & 3 \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A \\ -A & -A \end{bmatrix}$
D • $\begin{bmatrix} -A & -A & -A$

b)
$$\overline{V}_{4} = \begin{bmatrix} 2 \\ 1 \\ 0 \\ 0 \end{bmatrix}$$
 $\overline{V}_{5} = \begin{bmatrix} -1 \\ -1 \\ 0 \\ 0 \end{bmatrix}$ $\overline{V}_{3} = \begin{bmatrix} 0 \\ 0 \\ -6 \\ 5 \end{bmatrix}$ $\overline{V}_{4} = \begin{bmatrix} 0 \\ 0 \\ 0 \\ 1 \end{bmatrix}$

Scanned with CamScanner

The two vectors are linearly independent $3. a) \quad \overline{u}_{1} = \begin{bmatrix} 3\\1\\0 \end{bmatrix}, \quad \overline{u}_{2} = \begin{bmatrix} -\frac{y_{2}}{2}\\1 \end{bmatrix}$ if the homogeneous system $U\bar{x} = \bar{O}$ has only a trivial salution. 311-312=0 $\begin{bmatrix} 3 & -\frac{5}{2} & 0 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}$ = the sy only salution is the trivial salution, therefore $x_n + 0x_2 = 0$ =) X1 =0 X2 =0 $0x_1 + x_2 = 0$ they are lin. independent. b) $\overline{V} = \chi \overline{u}_1 + \beta \overline{u}_2 = \chi \begin{bmatrix} 3\\1\\0 \end{bmatrix} + \beta \begin{bmatrix} -5/2\\0\\1 \end{bmatrix}$ $\nabla = \begin{bmatrix} 3\alpha - \frac{5}{2} & \beta \\ \beta \end{bmatrix}$ c) per vector perpendicular to the plane can be found by meet calculating a cross-product of two vectors defining the plane. For example ty and the $\overline{u}_{1} \times \overline{u}_{2} = \det \begin{bmatrix} \overline{e}_{1} & \overline{e}_{2} & \overline{e}_{3} \\ 3 & 1 & 0 \\ -\overline{2} & 0 & 1 \end{bmatrix} = e_{1} \cdot 1 - \overline{e}_{2} \cdot 3 + \overline{e}_{3} \cdot \frac{5}{2} = \begin{bmatrix} -3 \\ -3 \\ 5 \\ 2 \end{bmatrix}$ K (All vectors perpendicular to this plane lie on a line passing) through the origin (as all vectors start in origin). Therefore: $\overline{W} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix} + \begin{bmatrix} 1 \\ -3 \\ 5/2 \end{bmatrix}$, $f \in \mathbb{R}$. (So3, where \overline{W} is a genural vector perpendicular to vector perpendicular to the plane from question. the plane from question. $\begin{array}{l} \text{ or using dot product:} \\ \hline u_1 \circ \overline{w} = 0 \quad \underbrace{[3 \ 1 \ 0]}_{12} \begin{bmatrix} u_1 \\ w_2 \\ w_3 \end{bmatrix} = 3 \\ w_1 + w_2 = 0 \quad \begin{bmatrix} 3 \ 1 \ 0 \ 0 \end{bmatrix} \\ -\frac{5}{2} \\ 0 \ 1 \ 0 \end{bmatrix} \\ \hline u_2 \\ \overline{u_3} \end{bmatrix} = -5 \\ \begin{bmatrix} u_1 + w_2 \\ w_3 \end{bmatrix} = 0 \quad \begin{bmatrix} 3 \ 1 \ 0 \ 0 \end{bmatrix} \\ -\frac{5}{2} \\ 0 \ 1 \ 0 \end{bmatrix}$ Khte ou parametric salution: we're selving a homo geneous system in the first place here (equations from obt product), therefore to (particular solution of $A_{\overline{X}} = \overline{b} = \overline{O}$) is considered. That's why there's [8] in the result in the result.

Scanned with CamScanner

 $\begin{array}{c} x & \sin(x) & \cos(x) \\ 1 & \cos(x) & -\sin(x) \\ 0 & -\sin(x) & -\cos(x) \end{array}$ 6 C²[0,TT 4. f.(x) = x as $f_2(x) = \sin(x)$ $f_3(x) = cos(x)$ Theorem about wronskin says that Lo Build a matrix if there I Ko E [0, TI] where the $\begin{cases} f_1 & f_2 & f_3 \\ f_1 & f_2' & f_3' \\ f_1'' & f_2'' & f_3'' \\ \end{cases}$ the Wronskin of Rife, for #0, then they are lin independent. $\frac{1}{12}\left[f_{A},f_{B},f_{3}\right] = x \cdot \left|\frac{\cos(x)}{-\sin(x)} - \frac{\sin(x)}{-\sin(x)} - \frac{\sin(x)}{-\sin(x)} - \frac{\cos(x)}{-\sin(x)}\right| = \frac{1}{12}$ Wroekin of a $= x \left[-\cos^{2}(x) - \sin^{2}(x) \right] - \left[-\sin(x) - \cos(x) + \sin(x) \cdot \cos(x) \right] =$ motrix above $= -x \left[\sin^2(x) + \cos^2(x) \right] - 0 = -x \cdot 1 = -x$ sin2x+cor2x=1 for any chosen Xo & frai (0, TJ) (excluding 0) $W[f_1, f_2, f_3] = -X$ => will the Wronskin # 0 = functions fin for for 5 let's pick xost will be linearly independent. > W[Fafa, F3]=-1 } = w:r.t. Yordened basis {1, x, x2} of P3 $\rho = \begin{bmatrix} a \\ 0 \\ o \end{bmatrix}$ = linearly independent only if = linearly independent only if $C_1 \cdot a + C_2(2x+4) + C_3(a-1)x^2 = 0 + 0x + 0x^2$ only in cases of $C_{41}C_{21}C_{3} = 0$. $\mathbf{b}_{\mathbf{j}} p(\mathbf{x}) = a$ q(x) = 2x + 4 $q = \begin{bmatrix} 4 \\ 2 \\ 0 \end{bmatrix}$ $r(x) = (\alpha - \Lambda) x^2$ Can ako be writtou 6 01a+4c2=0 2 202=0 #HD. r = 0a-1 $\begin{array}{c}
\begin{array}{c}
\begin{array}{c}
\begin{array}{c}
\begin{array}{c}
\begin{array}{c}
\end{array}\\
\end{array}\\
\end{array}\\
\end{array}\\
\end{array} \\
\begin{array}{c}
\end{array}\\
\end{array} \\
\end{array} \\
\begin{array}{c}
\end{array} \\
\end{array} \\
\begin{array}{c}
\end{array}\\
\end{array} \\
\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array} \\
\begin{array}{c}
\end{array} \\
\end{array} \\
\begin{array}{c}
\end{array} \\
\end{array} \\
\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array}$ \left\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array} \\
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array}
\left\begin{array}{c}
\end{array} \\
\end{array}
\left\left(\begin{array}{c}
\end{array} \\
\end{array} \\
\end{array}
\left\left(\begin{array}{c}
\end{array} \\
\end{array}
\left(\end{array} \\
\end{array}
\left(\begin{array}{c}
\end{array}
\left(\end{array} \\
\end{array}
\left(\end{array} \\
\end{array}
\left(\end{array} \\
\end{array}
\left(\end{array}
\left(\end{array} \\
\bigg)
\left(\end{array}
\left(\end{array} \\
\bigg)
\left(\end{array}
\left)
\left(\end{array} \\
\bigg)
\left(\end{array}
\left) \\
\bigg)
\left(\end{array} \\
\bigg)
\left(\end{array}
\left) \\
\bigg)
\left(\end{array}
\left) \\
\bigg)
\left(\end{array}
\left) \\
\bigg)
\left) \\
\bigg)
\left(\end{array}
\left) \\
\bigg)
\left) \\
\bigg)
\left(\end{array}
\left) \\
\bigg)
\left(\end{array} \\
\bigg)
\left) $(\alpha - n) c_3 = 0$ when 2a(a-1) +0, then p(r), q(r) and r(t) are linearly independent. Capper) triangular => determinant = product of diagonal This is if a #0 ^ a # 1. Therefore, the vectors are linearly This is if a #0 ^ a # 1. independent for all [a 6 12/50, 1

Scanned with CamScanner

5. Groningun
$$\rightarrow 60\%$$
 G , 20% A , 20% H
Ascen $\rightarrow 0\%$ G , 70% A , 30% H
Honen $\rightarrow 0\%$ G , 0% A , 30% H
Honen $\rightarrow 0\%$ G , 0% A , 400% H
Honen $\rightarrow 0\%$ G , 0% A , 400% H
Honen $\rightarrow 0\%$ G , 0% A , 400% H
Honen $\rightarrow 0\%$ G , 0% A , 400% H
Honen $\rightarrow 0\%$ G , 0% A , 400% H
Honen $\rightarrow 0\%$ G , 0% A , 400% H
H solution flate charges :
A : 200 books $\Rightarrow \begin{bmatrix} 600\\ 300\\ 500\end{bmatrix} \equiv bo$
 41200 books $\Rightarrow \begin{bmatrix} 600\\ 300\\ 500\end{bmatrix} \equiv bo$
 500 H to 100% H the function
 41% for the function
 41% fo